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3 C A DB NN (1/4) tamsmstssr 2007, MuAiTEGEA 5052t @AM, ppl41152)

PR | RS TR | RO Kgy F& K BE {TRD /AR PO
LA |5tV IR IAVF- 7J A
4m g/m’ bar bar + m/s T C m]
A <10 5.7 18 580 360
Wk (74 v a) 54 30 86 52 540 300 4
Mk (7 = 7 — VA IR ALER) 23 30 9.8 190 490 310
L a— A 51 60 9.3 66 500 380 250 5
v— h (K515%) 58 60 109 157 480 320 4
E— b (K5322%) 46 125 84 69 470 320 4
E— 1+ (k5r31%) 38 125 8.1 64 500 320
E— b OKk541%) 39 B * * 500 315
Y— b (7 VA58 74 125 8.3 51 490 310 4
¥ — b iRk 49 60 9.2 144 (360) 295
Ak (1) 43 60 95 102 490 320 3
AWy CR— VA H ) 30 58 26 610 360 245 5
Ay (R— Vi Wk BHIR) 30 84 67 520 350 3 5
A 44 (100) 72 24 560 350 3
Vr= 18 15 87 208 470 >450 5
TAT 7N 29 15 84 117 550 i
PR 18 60 8.8 44 790 >450
e 22 BRI * * 670 335
TP OK5316%) 46 125 84 67 (630)
[k 41 9.1 123 420 230 160 4
B (L CARED D) 55 60 9.0 143 450 240 4
Bk Bt h o) 60 89 107 420 230 230 3
Bk (79774 Mb) 28 I * * >850 >450
8 M (80 : 20) 40 60 8.6 108 440 230 >4000
& i/ R e (20 : 80) <10 04 1 590 280
Bha—2s 2 290 250 84 115 560 >450 3
A (R U AKED ) <10 BT * * >850 360
ARj 14 60 9.0 10 520 320 4
Ajr 19 60 85 117 540 270
Af >500 By * * >850 >450
s <10 9.0 55 590 270
WEFR (R PI=5) 38 125 86 86 610 360
VT % (R 858 5) 4 60 9.1 59 510 260
R () 300 6.0 17 (440) 230
FANY 2 — ) 20 125 52 35 520 290 2
LB A 57 60 94 85 610 >450 1
INET VT v 48 30 8.7 105 540 bl
FEAY v 55 83 109 490 >450 2
T 200 125 8.0 47 470 310
& v 7 (W) 490 82 90 420 270
LESITIN 245 125 77 35 (480) 350 3
K% 125 7.7 83 400(B)
4 — b % Bk 295 750 6.0 14 350 3
F ) — 7§kl 125 104 74 470(B) >1000
Jbl (R L AKED D) 150 60 9.0 102 430 b <1
bl 200 60 70 28 440 440 180
eH 400 125 6.4 27 530 G >4000
RE(TT v, ELAKDPD) 76 125 8.2 59 510 300 4
I—b—(ELAEND) <10 60 9.0 90 470 >450
=V RY—F <10 102 128 520 >450 300 2
I—VAY—F 16 60 9.7 158 520 440 2
a7/ WHERAW 500 125 74 43 580 460 2
BInvsy 165 60 8.1 90 460 330 75
Iy 235 60 82 75 450 320 80
WV s (RIEIE, W) 46 30 75 109 >100
W3V (&NElE, MBS 88 60 86 83 520 330 2
N 57 60 83 87 430 >450
/N 550 56 60 74 42 470 >450 400
/NG (k) 80 60 9.3 112 290 3
INEE Ry 20 60 9.8 132 500 535 3
pSi 18 100 190 530 420 3
iy Okfk) 120 60 9.3 190 480 555 5
MW FLL & 9 IRAEW 330 70 23 450 410 180 5
ReRikD (48 % M) 92 30 6.4 20 2
yoNa 49 48 12 470 280
7 ¥ CRIIR) 44 125 9.0 53 (450) 290 4
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ML ADEXM (2/4)
SRR | BB | RS Kyt FERWIE | <TED | K P
LA £ i IANF— 75 2
um g/m’ bar bar + m/s T C m]
K& 20 (200) 9.2 110 620 280 2
b T R (Kk59%) 165 30 87 117 440(B) >10
s 62 60 85 106 540 >450 2
FLBE 10 60 8.3 75 440 i 14 5
FUHE 27 60 8.3 82 490 460 2
T4 vyaI— 320 125 7.0 35 530
7 7 pE CHL 80 60 43 18 500 570 3
LS 60 74 57 360(B) >100
A7 b 65 125 9.1 69 480 >450
A7 ) 30 78 43 420(B) >1000
A7 b (#85) 32 (94) (89) 520 >450 >3200 2
4% 29 89 79 490 >450
77 P —AURLAKDS) 22 125 6.9 29 450 >450 80
S R=A(FArarhb) 23 60 77 81 520 >450 3
L E v §EHl 60 77 39 460(B) 250
7oV M) TEYIY - AF L U HEAHK 200 60 9.2 147 480 >450 5
=N 34 (100) 74 106 5
T4 (B o) 80 30 85 138 500 230 13 5
TH(REK, hoFamy) 95 30 95 192 450 230
TH (B 80 15 86 145 450 240
25 L O — A 19 30 9.8 180 520 >450
T a st 100 60 72 80 480 i
BHR(E LAY D) 40 30 8.7 108 460 G
R R (R ¥ V) 29 30 89 100 540 % 2(3)
HHEEERR (R LY V) 29 30 7.8 89 490 % 2(2)
7 =/ — Vi <10 15 9.3 129 610 >450 2
FVAT VT R - RE(BOE) 13 60 102 136 700 390 2
FNVLATVFE R - 253 ¥ (RIER) 14 60 102 189 800 >440 2
EYVFr)L— b 62 125 69 38 460 420 >1800 5
K)7r7)ua7I N 10 250 59 12 780 410 2
RKYy7rzya=hryi 63 60 74 41
K1) 73 B 15 30 89 105 450 e
K73 37 30 9.8 93 520 " 2(3)
RYwLg v 3 <30 (7.8) (156) 5
F) L AT <10 10.1 194 570 Gl
K)TFL v 72 75 67 440 %
K ZFL v (BHEE) 26 87 104 490 >450
R TFL v (RIEHE) <10 (30) 8.0 156 420 e 2(5)
R TFL v (R 150 125 74 54 480 " 3(5) FoAY
RYTF LY (RERE) 245 125 75 46 460 e 3(5) *
R ik =1 <10 30 84 168
A e = 125 30 7.7 68 530 340
AV b E =)V (FULEE97.5% PVC) 25 125 82 42 750 >450 >2000
AV HLE =)V (FUEEEI7% PVC) 51 125 85 63 790 350 >2000
AV =L SRS 105 125 77 45 510 >450 2
R EEE =)L GERA ) 20 60 87 86 660 e 2
FYZF L v GEEAK) 155 30 84 110 450 i
RKy¥= v7ira—yu 26 60 89 128 460 % 5
RKYVE=Z V7 Va— ) 56 60 8.3 83 460 % 5
K Fo¥L v 25 (30) 84 101 410 ® 3(5)
Ky FovLy 162 (200) 77 38 440 b 2(5)
RYXFTZYMA IR 105 30 96 125 530 G 5
KYXyT72)L—} 21 30 94 269 550 G 5
AFNVAZT I ) L—b - THILY - AFL Y 135 30 86 120 470 % 11 5
AFVAZTI) L= THVITY - AFLY 150 30 84 114 480 i 30 5
A5 3 Ut 18 125 102 110 840 >450 2
A5 3 ViR 57 60 105 172 470 >450 2
L(+)-7A2)VE U 14 60 6.6 48 490 e 2(5)
T A L 39 60 9.0 111 460 i 2(5)
L(+)-7A2VE VEEF ) DA 23 60 84 119 380 380 2
7 F V) F IR 15 79 217 550(B) 2(5)
HTx v 30 82 165 >550(B) i 2(5)
YATA VKA <10 125 74 40 420 i >2000
LY A74 >~ 15 60 85 142 400 G 40
FARYF v (ARSI ) <10 60 9.0 154 480 300
3K <10 60 86 151 410 320
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} SRR | B TE | RS Kyt SN | <FED | s P
LA ; JE7 i IANF— s
4m g/m bar bar * m/s T T m]
AFF = <10 30 94 143 390 G 9 5
AFF = <10 30 8.7 128 390 % 100 5
TV U <10 60 80 97 580 5 2(5)
A A 65 60 72 42 540 >450
TNVXFUBETa¥ Ly s a—n 115 125 8.8 82 440 450
IR AR S 235 15 87 231 600 >450
KRR A 710 60 82 63 510 >450 5
TR F VIR LA 17 60 100 64 >850 i 2
RNy A v <10 60 9.8 114 400 >450 3
WL x T3 24 250 122 73 >850 380 2
HEAL v 24 30 85 115 560 >450
HEA V=T UELAKESRS) 17 60 83 117 560 >450 740
HANVKREFYAF VLT =R 71 125 89 127 390 320 3
7V A 92 500 5.2 9 730 >460 2
T T I VNVBAFIVIATIV 260 30 10.1 269 500 >450 5
13V ZF NI T = VRE <10 15 83 163 530 i 2(5)
13V FNY 7 = = VIR 1300 30 87 116 600 e 2(5)
DAVES=Y Ay R VE 4V 128 30 89 218 660 % 2
PR A 1100 30 76 51 660 e 2
JAFNT LT Y VEE 27 30 9.7 247 460 >450 2
KEVTFIFFRUTA 40 125 70 47 460 G
27T VI 1300 8 72 34 500 i 1(1)
ATTN R NN 16 30 9.3 133 620 >450 25
27T VR 15 60 9.1 111 600 >450 3
ATT) BN TN <10 30 9.2 99 580 >450 16
AFTVYBANT YA 145 30 9.2 155 550 >450 12
AFTY VR R A 22 30 83 123 670 ® 2
AT T VSR 12 30 9.2 152 630 b 5
La—2 - A F At <10 60 100 91 410 >450 5
o= - A F A 112 30 94 112 (350) >465
2.2-F F iRk 75 30 6.5 72 350 410 2
F A IRFE 460 250 35 8 440 i 2(2)
MU XY R (MEK) 1250 30 6.8 33 740 % >2500 2(5)
F 7 5 Vi (EK) 16 60 90 90 690 i 3
FIILY 95 15 85 178 660 >450 <1 (5)
FALH (AR FES0%, BRIE30% ) 71 30 9.6 167 430 390 17
RIFNVATIVFE R 23 60 99 178 460 >480 5
WNIRIVATIVTFE K 27 60 10.7 222 460 >450
7 x ) — )V (B ) 20 15 8.2 171 560 i 2(5)
Jxatky 95 15 8.3 267 500 >450 5 5
TINEAT IV 16 125 81 52 910 i 2
Ry FF—¥ 34 60 106 177 510 >450 180 3
RyF v 59 60 95 162 460 300
NI RAY) b= <10 30 9.6 120 460 % <1 2(5)
Ny F T A b=V (R AKEDS) 85 30 9.1 188 490 G 6 5
Ry FT) A b=V EE LAY D) 135 30 9.0 158 G 27 5
D(-)-w=v} 67 60 76 54 460 [ 2
AF Nk — R 29 60 10.0 152 400 >450 105 5
AF VT — R 37 30 101 209 410 450 29 5
AT 3V <10 1000 0.5 1 >850 >450 2
AR LA <32 15 8.2 256 2(3)
Ailif 65 30 9.1 111 580 i
Ve (Na- 2 v ok L) 275 30 9.0 267 330 5 5
ARG () <10 9.0 73 710 360
AR (R) <10 50 112 249 520 G
AR OR) 52 60 9.8 237 470 >450 5
AR G, 7 LA w) <10 60 11.0 288 480 [ 2(5)
AR (7 sav7=V) <10 (200) 8.8 73 770 355 4
T ALK 260 30 76 63 500 i 2
Ty 7 AR (ANK VA LT 4 V) 105 30 86 115 390 >590
S (L H R 5) 19 6.0 85 800 >450 2
i1 21 250 6.8 93 790 >450
R (B CAMD D) <10 250 67 125 570 440 3
g (5 U AKED D) 10 125 73 176 2
TINVI=T A AT A(30:70) 22 112 420 600 >45( 6
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} PR | BE TR | RO Kyt SN | <FED | s P
LA ; £71 i IANF— s
4m g/m bar bar * m/s T T m]
TV = A $:(50 1 50) 21 250 94 230 760 >450
TNI= AN/ =y (50 :50) 90 JRIEET * * >850 >450
TIVIZTL/RTRY YA 130 104 52 >850 >450 2
T3 = A 190 620 >450 >1800
TN = A 240 JRIEET * * >850 >450
TNIZ L <10 60 11.2 515 560 430
T I = aH 22 125 400 650 270
T I= L8 22 30 115 1100 500 >450
A=V RN 29 30 124 415 710 >450
T I= A 23 30 11.0 320 850 >450
TNIZ A 41 60 102 100 >850 >450
T I= A 170 By * * >850 >450 1
HNVYI L/ FAFZHFA 7 hs) 21 60 9.8 200 770 >450 145 1
rA% <10 125 102 126 >850 >450 54 3
TAFEELAED,S) <10 60 95 116 >850 >450 250 1
7 A F# RS 5) 16 60 94 100 800 >450
ANV TNVIZTLSFE (621181 20) 25 500 74 134 730 >450
Hbw 18 750 4.1 31 390 260 4
yUHN =K T <10 6.6 37 700 450
PR EC AL D) 12 500 5.2 50 580 >450
B AFK T AT L2245 1 26) 17 94 169 670 >450 210
BT AF AT A (24147 117) 21 99 267 560 >450 35
ALK <10 125 6.1 111 310 300 3
PEN=P/2=FN <10 500 6.4 86 >850 >450
ZJxzud)ar(22:78) 21 125 9.2 87 >850 >450
PR <10 6.8 84 730 >450
XTAYT A 28 30 175 508
ST RYT A 240 500 7.0 12 760 >450 5
< v (BEGTR) 16 6.3 157 (330) 285
~ v (BESR) 33 6.6 69
EVTTFV <10 JRIEET * * >850 390
Tt 12 240 250 <1
[ 20 30 6.8 151 280 5
[ 40 330 270 3
Tt 120 370 270 5
75774 (995% hHK) 7 <30 5.9 71 >600(B) 680 1
s,/ Y77 3 F(66: 34) 50 250 70 21 390 >450
ENl 5 60 9.2 85 760 590
T ECAKDD) <10 30 88 88 840 570
fiha—2 2 15 125 76 47 690 280 4
fiha—2 2 71 125 38 3 750 >450 3
Figha— 2 A (f1)5) 22 250 6.8 14 >850 >450 3
IRBE 18 79 526 400 340 5
k) 77 19 250 56 37 520 320 4
7 ¥ a R 21 60 86 91 580 260
FHR () (500) (23) (24) 1
TR (7 V3 = &) (30) (57) (214) 480(B) 4
TS (1 — FH) 160 (100) 5
A (74 ~) 170 (100) 2
TR (R =25 V) <10 30 95 153 500 >450 5
BRI GR Y X7 )V) 25 94 237 550 >450 5
WA (7 V3 = 4) 150 5.0 18 440 320 5
WA (k) 600 (30) 6.2 11 580 340 2
W (Al7 5 Y) 25 30 114 360 590 450 <1
FAANVY L/ ITINIAL/ TRy h(712:18:10) 8 125 58 30 4
e 23 60 77 96 430 260 5
b — 8k 60 60 8.2 169 570(B) >450
k- <10 60 89 196 520(B) 5 4
k- <10 30 87 137 530(B) i <1 5
k- 21 60 838 134 530(B) i <1 (3)
k- 23 60 88 145 530(B) 5 8 (3)
TIAT v v a2 (BERECAES,DS) 6 125 19 35 1
7 L—F 54 F— WHER) <10 250 6.9 71 530 310
XY b N EBILED 35 60 74 123 430 >450 3
SRR ECh (B4R ) 15 76 242 370(B) 280 4
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